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Q1 Select the dice that can be formed by folding the given sheet along the lines.
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Ans X 1. Only A and C
X2 OnlyA, Cand D
X 3. Only A
v 4 OnlyAand D
Question ID : 65497828605

Status : Answered
Chosen Option : 4

Q.2 In a certain code language, ‘INSPIRE’ is written as ‘JPTTJZF’. How will ‘FORGIVE’ be
written in that language?

Ans X 1. GQTKJEF
7 2. GQRKIDF
« 3. GQSKJDF
X 4. GQSLIDF

Question ID : 65497828616
Status : Answered
Chosen Option : 3



Q.3 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Question ID : 65497828597

Status : Answered

Chosen Option : 2

Q.4 Select the number from among the given options that can replace the question mark
(?) in the following series.

21,32,54,7?,131
Ans X 1.72

X 2.95
% 3.66
o 4.87

Question ID : 65497828613

Status : Answered

Chosen Option : 4




Q.5 Select the figure from among the given options that can replace the question mark (?) in the following series,

e |x]+|x]of
e |kle] + o]
Ans
X +
X 1.

Question ID : 65497828614
Status : Answered
Chosen Option : 4

Q.6 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Speed : Speedometer :: Air pressure : ?
Ans X 1. Variometer
5 2. Altimeter
25 3. Hypsometer
" 4. Barometer

Question ID : 65497828608
Status : Answered
Chosen Option : 4

Q.7 Six friends, P, Q, R, S, T and U are sitting in two rows, three in each. S is not at the end
of any row. T is a neighbour of R. R and U are sitting diagonally opposite to each other.
P is second to the left of U. Who among the following three friends are in the same
row?

Ans ¥ 1.7QU and PRS
«" 2. PSU and RTQ
5 3.8TU and PRQ
25 4.PTQand RSU

Question ID : 65497828609
Status : Answered
Chosen Option : 2




Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

KMQW, HJNT, CEIO, ?
Ans X 1.FINT

« 2. ACGM

7 3.0QSY

X 4.IMST

Question ID : 65497828607
Status : Answered
Chosen Option : 2

Q.9 Arunima told Sahil, “Your brother-in-law’s only sister's son is my grandson.” How is
Sahil related to Arunima?

Ans  # 1. Son-in-law
< 2. Uncle

< 3.Son
< 4. Father-in-law

Question ID : 65497828617
Status : Answered
Chosen Option : 3

Q.10 Select the Venn diagram that best represents the relationship between the following classes.

Grain, Beetroot, Kiwi

Ans
x2

Question ID : 65497828610
Status : Answered
Chosen Option : 3

Q.11 In a certain code language, 'RAT" is coded as '39' and 'BEAR' is coded as "26'. How will
'SNAKE' be coded in that language?

Ans 4 1.50
7 2.54
7 3.52
X 4.48

Question ID : 65497828599
Status : Answered
Chosen Option : 1




Q.12 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

(7, 308, 11)
Ans X 1.(16, 239, 6)
o 2. (12,324, 9)
% 3.(9, 160, 8)
X 4.(8, 164, 5)

Question ID : 65497828595
Status : Answered
Chosen Option : 2

Q.13 Select the option that is related to the third number in the same way as the second
number is related to the first number.

8:104::16: 7
Ans X 1.300
2.335
«" 3.336
X 4.320

Question ID : 65497828603
Status : Not Answered
Chosen Option : --

Q.14 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

HKN : KOS :: MPS : ?
Ans X 1.TPX

x 2.PTW
< 3. TPW
o 4.PTX

Question ID : 65497828615
Status : Answered
Chosen Option : 4

Q.15 In a certain code language, '"HORNS' is written as 'SRONH' and 'CRUDE' is written as
'UREDC'. How will 'FACTOR' be written in that language?

Ans X 1. TSOCAE
o 2. TROFCA
X 3.ACFOTR
4. TROACF

Question ID : 65497828593
Status : Answered
Chosen Option : 4




Q.16 In an organisation consisting of 214 employees, 120 have participated in Clay
Modelling and 130 have participated in Poster Making, 36 employees have participated
in both Clay Modelling and Poster Making. If each employee has participated in at least
one of the two activities, how many employees participated in Poster Making only?

Ans X 1.80
X 2.90
X 3.84
& 4.9

Question ID : 65497828596
Status : Answered
Chosen Option : 4

Q.17 Select the number from among the given options that can replace the question mark
(?) in the following series.

31,37,41,43,7
Ans X 1.51
o 2.47
X 3.45
X 4.49

Question ID : 65497828600
Status : Answered
Chosen Option : 4

Q.18 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Program
2. Problem
3.Proposal
4. Profound
5. Property

Ans X 1.2,1,4,53
224153
% 3.421,35
X 4.3,2,4,51

Question ID : 65497828611
Status : Answered
Chosen Option : 2

Q.19 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans & 1. HQY
X 2.HQz
X 3.BKT
X 4.DMV

Question ID : 65497828598
Status : Answered
Chosen Option : 1




Q.20 sglect the option in which the given figure is embedded (rotation is NOT allowed).

“-\-\_7
o
Ans
_-:/
X1
2 %\
i
ﬁ/
X3 7
X 4. >

Question ID : 65497828606
Status : Answered
Chosen Option : 2

Q.21 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?

90D (2B5)A4B (12A10) C 4B (17 C 10)
Ans X 1.67

< 2.61
X 3.65
o 4.69

Question ID : 65497828604
Status : Answered
Chosen Option : 4

Q.22 Five friends, A, B, C, D and E, are sitting in a straight line. A and B are adjacent to each
other. B is between A and C. A is 3rd to the left of D. D is 2nd from the right. Who is
sitting 3rd from the left?

Ans X 1.D
X 2.A
& 3.C
X 4.E

Question ID : 65497828602
Status : Answered
Chosen Option : 3




Q.23 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

1. No girl is a musician.

2. No musician is a teacher.
3. All stars are musicians.

Conclusions:
I. No star is a girl.
1. No star is a teacher.

Ans  # 1. Both the conclusions follow
#< 2. Only conclusion Il follows
25 3. Only conclusion | follows

25 4. None of the conclusions follow

Question ID : 65497828594
Status : Answered
Chosen Option : 1

Q.24 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

Z_UM_AF_M_A__M

Ans X 1. FDPZMUF
o 2. AFZUZFU
X 3. DZFUMZA
X 4. UADZMFZ

Question ID : 65497828612
Status : Answered
Chosen Option : 2




Q.25 Select the correct mirror image of the given figure when the mirror is placed at 'AB' as shown.
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(S ]
> & [
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Ans ."D
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< <A 8
X2 |@ X O
ne <
< <J B
+3 1@ X O
0 & «
el VAN
X4 |4 x N
A Om

Question ID : 65497828601
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness

Q.1 Curd and vinegar taste sour because they contain
Ans X 1.chemicals

& 2. acids
75 3. proteins

X 4. yeast

Question ID : 65497828633
Status : Answered
Chosen Option : 2

Q.2 Who among the following is credited with being the 'Pioneer of Rocket Technology' in
India?

Ans X 1. Lord Cornwallis
< 2. Babar
X 3. Akbar I
¥ 4. Tipu Sultan

Question ID : 65497828638
Status : Answered
Chosen Option : 1




Q.3 Which of the following is the largest west flowing river in Peninsular India?
Ans X 1.Krishna

X 2. Kaveri
+«" 3. Narmada
< 4. Godavari

Question ID : 65497828618
Status : Not Answered
Chosen Option : --

Q.4 Who inaugurated 'Destination North East 2020', to showcase the region’s culture,
tourism and heritage?

Ans X 1. Union Minister for Tourism and Culture, Prahlad Singh Patel
#< 2. Union Minister for Tourism, Dr Jitendra Singh

25 3. The Prime Minister, Narendra Modi

" 4. Union Home Minister, Amit Shah

Question ID : 65497828635
Status : Not Answered
Chosen Option : --

Q.5 Chhath Puja, the famous traditional festival of India is dedicated to which of the
following Gods?

Ans X 1. Moon
25 2. Lord Brahma

" 3. Sun
#< 4. Lord Shiva

Question ID : 65497828621
Status : Answered
Chosen Option : 3

Q.6 Who among the following won the Nitto Men’s ATP Tour Finals in 2020?
Ans X 1. Dominic Thiem

< 2. Novak Djokovic
«# 3. Daniil Medvedev
< 4. Andrey Rublev

Question ID : 65497828626
Status : Not Answered
Chosen Option : --

Q.7 Which Amendment enabled 27% reservation for OBC in government and private
educational institutes in 20067?

Ans  # 1.93rd
&K 2.77th
X< 3.86th
< 4.92nd

Question ID : 65497828631
Status : Answered
Chosen Option : 4




Q.8 In which state was the Forest Martyrs' Memorial inaugurated in November 2020?
Ans X 1.Karnataka

25 2. Tamil Nadu
< 3. Maharashtra
¥ 4. Andhra Pradesh

Question ID : 65497828642
Status : Not Answered
Chosen Option : --

Q.9 Who among the following Indian actors has been appointed as the state icon of Punjab
by the Election Commission of India?

Ans X 1. Amitabh Bachchan
" 2. Sonu Sood
2% 3. Salman Khan
< 4. Akshay Kumar

Question ID : 65497828624
Status : Answered
Chosen Option : 2

Q.10 Which of the following states has the highest life expectancy at birth?
Ans 1. Kerala

X 2.Goa

< 3.Haryana
75 4. Tamil Nadu

Question ID : 65497828619
Status : Answered
Chosen Option : 1

Q.11 When was the All India Tennis Association (AITA) established in India?
Ans X 1.1912

X 2.1934
X 3.1956
o 4. 1920

Question ID : 65497828625
Status : Answered
Chosen Option : 2

Q.12 Who is the author of the book ‘Lessons Life Taught Me, Unknowingly’?
Ans X 1. Shilpa Shetty

" 2. Anupam Kher
5 3. Twinkle Khanna
< 4. Javed Akhtar

Question ID : 65497828630
Status : Answered
Chosen Option : 2




Q.13 GDP can be expressed in two different ways, nominal GDP and
Ans X 1. domestic GDP

" 2. real GDP
< 3. symbolic GDP
< 4. calculated GDP

Question ID : 65497828636
Status : Answered
Chosen Option : 2

Q.14 , built by the Mughal Emperor Shah Jahan in the 17th century, was the main
residence of the Mughal Emperors for nearly 200 years.

Ans X 1. Tughlagabad Fort, Delhi
#< 2. Siri Fort, Delhi

¥ 3. Red Fort, Delhi

< 4. Salimgarh Fort, Delhi

Question ID : 65497828634
Status : Answered
Chosen Option : 3

Q.15 Queen Victoria's Proclamation declared that thereafter India would be governed by
and in the name of the British Monarch through a Secretary of State on:

Ans X 1.27 October, 1858
" 2. 1 November, 1858
< 3.12 August, 1858
#< 4. 16 September, 1860

Question ID : 65497828620
Status : Answered
Chosen Option : 1

Q.16 Kabini is an important tributary of the river:
Ans 4 1. Cauvery

< 2. Krishna
7 3. Mahi
X 4. Godavari

Question ID : 65497828637
Status : Answered
Chosen Option : 3

Q.17 In which part of Article 44 of the Constitution of India is the provision for uniform civil
code for the citizens contained?

Ans X 1.Partlll
% 2. Part Vi
o 3. Part IV
X 4. Partll

Question ID : 65497828640
Status : Answered
Chosen Option : 3




Q.18 Who was appointed as the first Chairperson of the Reserve Bank Innovation Hub in
November 20207

Ans o 1. Senapathy (Kris) Gopalakrishnan
2< 2. TN Manoharan

2% 3. Rajiv Kumar

& 4. Narayan Murthy

Question ID : 65497828622
Status : Not Answered
Chosen Option : --

Q.19 Which of the following is NOT a cold-blooded animal?
Ans o 1. Rabbit

#< 2. Shark
25 3. Crocodile
< 4. Frog
Question ID : 65497828628
Status : Answered
Chosen Option : 1
Q.20 The smallest and longest bones in the human body are and 4

respectively.
Ans X 1. stapes, fibula

75 2. tibia, femur
" 3. stapes, femur
< 4. nails, fibula

Question ID : 65497828629
Status : Answered
Chosen Option : 3

Q.21 Who among the following cricketers was the winner of ‘ICC ODI Cricketer of the Year
Award 2020°?

Ans X 1. Mahendra Singh Dhoni
#< 2. Virat Kohli
#< 3. Jasprit Bumrah
" 4. Rohit Sharma

Question ID : 65497828641
Status : Answered
Chosen Option : 2

Q.22 Which of the following lakes of India has NOT been added to the Ramsar Sites?
Ans X 1. Chilka Lake

X 2. Keetham Lake
#< 3. Loktak Lake
«# 4. Dal Lake

Question ID : 65497828623
Status : Answered
Chosen Option : 2




Q.23 The Buddhist Vihara at Sanchi is also known as ‘Great Stupa’. It is one of the most
famous Buddhist monuments in India, located at Sanchi town in district.

Ans X 1. Jabalpur
" 2. Raisen
2% 3. Purnia
< 4. Patna

Question ID : 65497828627
Status : Not Answered
Chosen Option : --

Q.24 Which of the following countries performed its first robotic docking in lunar orbit?
Ans X 1.Russia

" 2. China
25 3.India
< 4. Japan

Question ID : 65497828632
Status : Not Answered
Chosen Option : --

Q.25 Which of the following books was written by Banabhatta?
Ans X 1. Ashtadhyayi

< 2. Akbarnama
«# 3. Harshacharita

7% 4. Malavikagnimitram

Question ID : 65497828639
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics

Q1 The average of the first five multiples of 13 is:
Ans X113

« 2. 30

X 3. 65

x4 26

Question ID : 65497828651
Status : Answered
Chosen Option : 2




Q.2 The compound interest compounded annually on a sum of money for 2 years is T1,128.6 and the simple interest on the
same sum for the same period is T1,080. What is the difference between the compound interest compounded annually

and the simple interest for 3 years?

Ans X 1. 7165.174
X2 T170.174
« 3. T150.174
X4 3160.174

Question ID : 65497828663

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.3 Two trains of lengths 120 m and 180 m are travelling in opposite directions at the uniform speed of 34 knvh and 32
knv/h. The time taken by the two trains to pass each other is:

Ans 1. 180/11 sec
<2 17 sec
X 3. 15.5sec
X 4. 16 sec

Question ID : 65497828659
Status : Answered
Chosen Option : 1

Q.4 A person purchased a machine for ¥50,000 and fixed the marked price 20% higher than the cost price and sold it at a

discount of 15%. The percentage profit or loss is:

Ans X 1. 19 loss
X 2. 2.5% profit
X 3. 4% loss

« 4. 2% profit

Question ID : 65497828656
Status : Answered
Chosen Option : 4

Q5 1fp—a2xp° xcll,Q=2a% xb? X c3,R=al® x ¢23, then what is the HCF of P, Q and R?
Ans o1 £I3 % C5

X2 q15 4 p? x 23

X3 axc

X 4 26 x pl4 x 39

Question ID : 65497828643
Status : Answered
Chosen Option : 1




Q.6 A sum fetched a total simple interest of 5,427 at the rate of 9% p.a. in 6 years. What is the sum?

Ans X 1. ¥54,010
v 2. 10,050
x 3. T10,002
X 4. T54,270

Question ID : 65497828653
Status : Answered
Chosen Option : 2

Q.7 A’s income is 25% more than that of B. B’s income is less than A’s income in percentage of:
Ans 1. 15%

2. 20%

X3 11%

X 4. 18%

Question ID : 65497828657
Status : Answered
Chosen Option : 2

Q.8 313,540 is to be divided between Kamal and Sunita such that Kamal's share at the end of 5 years may be equal to
Sunita's share at the end of 7 years. If the rate of interest is 8% per annum compounded annually, then Kamal’s share is:

Ans X 1. 37,280
¢ 2 37,290
X3 ¥8,240
x4 %7.,300

Question ID : 65497828647
Status : Not Answered
Chosen Option : --

as Thevalueof% of%—z 0f4;+4+ T+3 of 72 is:
Ans 1124
o 1. R
105
x 2. 1024
105
x 3 2204
105
X 4. N
105

Question ID : 65497828660
Status : Answered
Chosen Option : 1




Q.10 The perimeter of a square is 64 cm . The area of a rectangle is 16 cm? less than the area of the square. If the length of

the rectangle is 20 cm , what is the perimeter of the rectangle?
X1 12 cm

X2 15cm

X3 18 cm

« 4. 64 cm

Ans

Question ID : 65497828664
Status : Answered
Chosen Option : 4

QM Thevalueof2X7 +140f4—5+4%x(9—-11)+2—2x6+80of3.is:

Ans 1

X1 3—
2
o 2 41
4
1
o ER
2
3
b T
4

Question ID :

Status :

Chosen Option :

65497828665

Not Attempted and
Marked For Review

Q.12 What is the greatest number which leaves the same remainder in each case, when divides 265, 580 and 8237

Ans s 1 35
X2 55
X3 25
X4 45
Question ID :
Status :

Chosen Option :

65497828650

Not Attempted and
Marked For Review

Q.13 Adriver drives a car at a uniform speed of 60 kmvh and reaches the 330 km destination by 30 min late. To reach on time,
the % increase in speed will be:

Ans X 1. 15%
+ 2. 10%
X3 12%
X 4. 20%
Question ID :
Status :

65497828658
Answered

Chosen Option : 2




Q.14 A train moves at a speed of 70 km/h for 5 hours and stops at station *A’. From station "A", the train moves to station ‘B’
at a speed of 66 kmv/h for 3 hours. What is the total distance covered by the train?

Ans X1 520 km
+ 2. 548 km
X 3. 500 km
X 4. 480 km

Question ID : 65497828661
Status : Answered
Chosen Option : 2

Q.15 Two-third of the loss of A is equal to five-seventh of the profit of B. If the loss of A is 2,460, then how much (correct to
2 decimal places) percentage of the profit of B is the loss of A?

Ans  X'1.107.27%
2. 107.14%
X 3. 93.67%
X 4.93.33%

Question ID : 65497828644
Status : Answered
Chosen Option : 4

Q16 1£f0.45: x ::3:8, then x isequal to:
Ans X'1.1.3

2 12

X3 14

x4 22

Question ID : 65497828648
Status : Answered
Chosen Option : 2

Q.17 There are three numbers such that the first number is 3 times the second number and the second number is half of the
third number. Their average is 60. The third number is:

Ans  X'1. 120
« 2. 60
<3 30
X490

Question ID : 65497828655
Status : Answered
Chosen Option : 2




Q.18 Acan comp}etez of a certain work in 9 days and B can complete 80% of the same work in 16 days. Both work together

for 5 days. C alone completes the remaining work in 6§ days. A and C together will complete the whole work in:

Ans X 1. 9 days
X 2. 10 days
« 3. 8 days
X 4. 6 days

Question ID : 65497828667
Status : Answered
Chosen Option : 3

Q.19 A person purchased a refrigerator for T18,000. After two years, he spent 32,500 on its repair and sold it for ¥12,300. The
percentage loss is:

Ans X 1. 42%
X 2. 46%
+ 3. 40%
X4 44%

Question ID : 65497828654
Status : Answered
Chosen Option : 3

Q20 , pond is 50 m long, 25 m wide and 4 m deep. Find the capacity of the pond (in m?).

Ans X 1. 4000
X 2. 500
+ 3. 5000
X 4. 2500

Question ID : 65497828649
Status : Answered
Chosen Option : 3

Q.21 Aboy who is 7 feet tall can cast a shadow that is 21 feet long on the ground. How tall (in feet) is a man who can cast a
shadow that is 15 feet long?

Ans X1 G5
™ 255
X3 6
¥4 5

Question ID : 65497828652
Status : Answered
Chosen Option : 4




Q.22 Tpe gifference between the selling prices of an article sold at a discount of 14§% and 102% is 48. If the marked price

is 25% more than the cost price, then the cost price of the article is:

Ans X 1. ¥860
X 2. 3950
%3 3920
4. 960

Question ID : 65497828645
Status : Answered
Chosen Option : 4

Q.23 By selling an article for T340, a trader loses 20%. To gain 15%, he must sell it for:

Ans 1. T488.75
X 2. ¥475.50
X 3. T455.75
X4 3517.50

Question ID : 65497828666
Status : Answered
Chosen Option : 1

Q.24 Some articles are sold in such a way that the cost price of 60% of the articles is equal to the selling price of 40% of the
articles. The profit percentage is:

Ans 1. 35
X2 40
X3 45
¥4 50

Question ID : 65497828646
Status : Answered
Chosen Option : 4

Q.25 gohith and Manoj together have 31.320. I.fg of Rohith’s amount equals to g of Manoj’s amount, how much amount
does Rohith have?

Ans X 1. 320
X2 T328
« 3. T792
X 4. 3980

Question ID : 65497828662
Status : Not Answered
Chosen Option : --

Section : Part D English



Monumental
Ans X 1. Mysterious

& 2. Insignificant
< 3. Important
75 4. Enormous

Q.1 Select the most appropriate ANTONYM of the given word.

Question ID : 65497828678
Status : Answered
Chosen Option : 4

words.

Ans o 1. Aviary
< 2. Apiary
75 3. Asylum
< 4. Aquarium

Q.2 Select the option that can be used as a one-word substitute for the given group of

A large cage, building or enclosure for keeping birds in

Question ID : 65497828674
Status : Answered
Chosen Option : 1

The police later
Ans X 1. abandoned

" 2. confirmed
25 3. commenced

X 4. analysed

Q.3 Select the most appropriate option to fill in the blank.

that one of the thieves had been arrested.

Question ID : 65497828671
Status : Answered
Chosen Option : 2

words.

Ans X 1. Matriarchy
#< 2. Masculinity
2< 3. Patrilineal
" 4. Patriarchy

Q.4 Select the option that can be used as a one-word substitute for the given group of

A system of society or government in which men hold the power and women are
largely excluded from it

Question ID : 65497828681
Status : Answered
Chosen Option : 4




Q.5 Select the INCORRECTLY spelt word.
Ans X 1. Nineteen

o 2. Neutrelise
25 3. Noun
< 4. Nationalise

Question ID : 65497828682
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate meaning of the given idiom.

In the long run
Ans X 1. Immediately
7% 2. Occasionally
4" 3. Ultimately

< 4. Regularly

Question ID : 65497828670
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate option to fill in the blank.

There are various legends associated with the of the state of Kerala.
Ans X 1.source

75 2. basis
3. root
& 4. origin

Question ID : 65497828676
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate SYNONYM of the given word.

Lure
Ans X 1. Attack

25 2. Amend
" 3. Attract
< 4. Arise

Question ID : 65497828686
Status : Answered
Chosen Option : 3




Q.9 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Educational institutions have been notify to open from 17th November for higher
semester students who are engaged in research.

Ans X 1. open from
25 2. are engaged
+«" 3. have been notify

2 4. for higher semester students

Question ID : 65497828679
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

| started early from office, lest | should not get caught in the rain.

Ans X 1.lest | will not get caught
X 2. lest that | get caught
25 3. No substitution required’

" 4. lest | should get caught

Question ID : 65497828684
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.

My classmate is of my achievement.
Ans o 1. jealous
5 2. bitter
< 3. zealous

X 4.sad

Question ID : 65497828677
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate synonym of the given word.

Desert
Ans X 1.Help
< 2. Support
" 3. Abandon

X 4. Stay

Question ID : 65497828669
Status : Answered
Chosen Option : 3




Q.13 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He want / to have / some more rice.
Ans 1. He want
25 2. No error
/< 3.to have

2 4. some more rice

Question ID : 65497828668
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I am living in this city for several years but have never experienced any discrimination.
Ans X 1. had lived

& 2. No substitution required’
25 3. was lived
" 4. have lived

Question ID : 65497828683
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.
Tropical
Ans 4 1. Cold
5 2. Lush
/5 3. Equatorial

25 4. Sultry

Question ID : 65497828680
Status : Answered
Chosen Option : 1

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Fit to be eaten
Ans X 1. Tasty

< 2. Delicious
< 3. Potable
« 4. Edible

Question ID : 65497828687
Status : Answered
Chosen Option : 4




Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He has been talking / since two hours / and is still / not tired.
Ans X 1. He has been taking

" 2. since two hours
75 3.not tired
25 4. and is still

Question ID : 65497828685
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate meaning of the given idiom.

Monkey business
Ans X 1. Dealing in the supply of monkeys

25 2. Actions that imitate other animals
7% 3. Carrying out business related to monkeys

4" 4. Behaviour that is not acceptable or is dishonest

Question ID : 65497828673
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option that can substitute the underlined word in the
given sentence.

In India, there are not enough job employability.
Ans X 1.invincibility

< 2. productivities
25 3. profitability

" 4. opportunities

Question ID : 65497828672
Status : Answered
Chosen Option : 4

Q.20 Select the INCORRECTLY spelt word.
Ans X 1. Exclaim

75 2. Express
4" 3. Comunity
< 4. Array

Question ID : 65497828675
Status : Answered
Chosen Option : 3




Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.

#5 1. more
< 2. many

25 3. maximum

" 4. most

Question ID : 65497828689
Status : Answered
Chosen Option : 4

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.

< 1. then
75 2. there

# 3. than
< 4. that

Question ID : 65497828690
Status : Answered
Chosen Option : 3

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3
75 1. Specific

o 2. The
< 3. Few
X 4. Such

Question ID : 65497828691
Status : Answered
Chosen Option : 2




Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)
of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles
(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 24
Select the most appropriate option to fill in blank no. 4.

o 1.are
#< 2. had been

75 3. were
5 4. have been

Question ID : 65497828692
Status : Answered
Chosen Option : 1

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The predominantly deltaic eastern coastal plain is an area of deep sedimentation. Over (1)

of its length it is considerably wider (2) the plain on the western coast. (3)
major deltas, from south to north, (4) of the Kaveri, the Krishna-Godavari, the
Mahanadi, and the Ganges-Brahmaputra rivers. The last of (5) is some 190 miles

(300 km) wide, but only about one-third of it lies within India.

SubQuestion No : 25
Select the most appropriate option to fill in blank no. 5.

X 1. this
25 2. that
o 3. them
#< 4. whom

Question ID : 65497828693
Status : Answered
Chosen Option : 3

Section : Part D Hindi

QA1

Ans

R T g § Rad-=I WA & RIT Ga Suga eg &1 999 B3|
74 B ST F Bt marst 3 T A

o 1. LM

X 2. %o

X 3. A

X 4.3

Question ID : 65497828708
Status : Not Answered
Chosen Option : --




Q.2 fadm WGl & WE T BT 991 B
Ans X 1.49-

X 23R -

X 3. AT Y - @Y

o 4. 3G - 3

Question ID : 65497828711
Status : Not Answered

Chosen Option : —

BT T B

TF T WA 3R 9F 79 21

Ans X 1.39% HRU

2. Eif

X 3.3d:

X 4. T4l gacra B SMaRadhdl -l o

Q3 ﬁqmamﬁwmmaﬁuﬁwﬁam%mmmﬁmmmﬁl
Tfe 3 wfaRnfid $1 $1 saxgsar 1e1 €, a9 Aoy fodt agame 3t sawasar 18 &

Question ID : 65497828696
Status : Not Answered

Chosen Option : -

It @l
Ans X 1.TEFS
2. Teue
X 3. BeBe
X 4.Tgds

Q4 fyod WM WA & T e Suged Weg &1 999 $I-

Question ID : 65497828698
Status : Not Answered
Chosen Option : —

39 a &t S IR gfeg g en
Ans 1 Digal
X 2 g
X 3.9¢
7 4. Biddi

Q.5 3 T a1 & YEIed S B UfawIitg S & fo Saw Suged ey &1 99 31

Question ID : 65497828709
Status : Not Answered
Chosen Option : —




Q.6 faT 7Y Teg F WA Weg BT T B
gt
Ans X 1.g
o 2. U
X 3.9k
X 4. Udd

Question ID : 65497828700
Status : Not Answered
Chosen Option : —

Q.7 ArE-AEH Pt 8wt By-aren
Vg W & WM W U@ Vg fee-
Ans X 1 gl
X 2. %®
K 3. e
WRCET|

Question ID : 65497828713
Status : Not Answered
Chosen Option : -

Q.8 iy g A YEiiea @e & ufaruifia #31 & Y 9ed Suged fawer &1 9a7 H31
u&sﬂtﬁwﬁamﬁaﬁmaﬁiaﬁﬁwﬁﬁmﬁﬁmﬂa%
BT I DY

4rSt & g & aruw wite s
Ans X 1 fdfl 9ead BI MTUHdl ol o
X 2.9 9 die ol
X 3.ddle o/ agy
& 4. a7l 3/

Question ID : 65497828705
Status : Not Answered
Chosen Option : —

Q9 g-ﬁqnqmmagmmﬁﬁmﬂﬁiiﬁ%lﬂﬁﬁﬁﬂﬂ%ﬁﬁﬁﬁ%
I

gmﬁmﬁuﬁzﬁuym@m,qawﬁﬂuﬂiﬂﬁ 1 3y P IR T
(4)
Ans 13

X 2.4
X 31
X 4.2

Question ID : 65497828703
Status : Not Answered
Chosen Option : —




Q.10 I | UST A YS1 - Y@Iidd Weg I Ffe Ugate-
Ans X 1 o541 fa2 & HRUI

2. G- H & HRU
X 3. fasivo & HRu
X 4 9 S BRI

Question ID : 65497828710
Status : Not Answered
Chosen Option : —

Q.1 {3 UeT FUSIE - AT ¥ e o e @
Ans 1 [fFTY

X 2. 9ds
X 3.y
X 479

Question ID : 65497828712
Status : Not Answered
Chosen Option : —

Q.12 f3g g wre o1 faei 94-
o
Ans X 1. %d
& 2.37
X 3. g
X 4. 3faq

Question ID : 65497828706
Status : Not Answered
Chosen Option : —

Q13 %ﬁ;mmwa’r T A B PR B R F R P R @, A e R @Y
I

o1 # Frafa & divar (1)) e 1 Sror Igufa 7 (2)) 3@ dRaw ver e () a9
R T2 @)

Ans X 1.4
X 2.1

3.2
X433

Question ID : 65497828699
Status : Not Answered
Chosen Option : —

Q.14 et 9g U1 ATYR BT U1 7 €7 39 I & fore e arde 2 difvm)
Ans X 1 f3cg

X 2 fdm

x 3.fnfg

v 4 Frda

Question ID : 65497828694
Status : Not Answered
Chosen Option : —




Q.15 3y 1Y IR e § A, 39 ey o1 997 ¥, S - Ry geet 1 o arga swar 1

Ry waa
Ans X 1. UGN 9 AT
X 2 3B BIRM
X 3. Ui vay
4. YR DI
Question ID : 65497828707
Status : Not Answered
Chosen Option : —
Q.16 FE T aTel g BT 9 DY
Ans X 1. 33f0@
X 2. Ruaifrs
3. e
X 4. QD
Question ID : 65497828702
Status : Not Answered
Chosen Option : -
e w— s— —
Q17 W a9t W=g FT I BN
Ans p | aRUg
X 2. 30y
X 3.3
X 4. 3feg
Question ID : 65497828701
Status : Not Answered
Chosen Option : —
Q.18 ¥ RIF &1 WA F ¢ Ta IUge g BT 99 il
gdter_ AEgl
Ans X 1 W@Eg
X 2. &Hdn
X 3.¥0
4. DR
Question ID : 65497828695
Status : Not Answered
Chosen Option : —
Q19 FH FEAT eTa¥ o1 Y TaTse-
Ans 1 QTR BHI
X 2.e&gH
X 3. e BRAl
X 4. BRI
Question ID : 65497828697
Status : Not Answered

Chosen Option :




Q.20 3T T Rz F AT 2eg BT TUT Y|
3d
Ans 1 Sigyd
X 2.agH
X 3. cifhd
o 4.

Question ID : 65497828704
Status : Not Answered
Chosen Option : —

Comprehension:

Fafafad T o uear usl & Ifad I e

U &Td # 91 &1 I §gd 81 Heayul 41| U1 el ofidl 8 [ “Sgl -IRI &1 Goll gidl &, gl
adl g HRd & THBIEH I Y TR & Ua 3 8l T TR &t Grit a1 @ 71 S
AR IR T 81 B ol T3 1 1991 TSt H IS IR 1, WA f[ddaHe, aaHe TRl S
TRIHTGl Ud YHIS QURS! & YRl ¥ AR Sfaell ¥ Jaa §-dl T3 | 90f e o T AR
Tl & 9y TR FRaR S g6t Tt 31 & ART A SFfiF U AP SfaR dd 31U Hedll SR g |
TR AR AR Y & @l Ul B, Y B Yogafyd 9 & e Ugad e 9y, at & uRaR gE
Sfiar 31 Rifga T URaR & SSRD 81 Ud® R T A S G giFT difet| §H # vafed
P DI R B H Gl D TP GUR DT YgaRil §41 el TRI BT ISR & BT ISR 8l
3id TRl Bl Wad GHM o1 AIfeul

SubQuestion No : 21
Q.21 3THTR- HIH-HT e Y@ Weg BT 141G et &2
Ans X 1.94

X 2.TH
X 3. 3R
& 4. 3fad

Question ID : 65497828715
Status : Not Answered
Chosen Option : —

Comprehension:

Fafafad T o ueer Ul & 3fd S e

U ST # 91 &1 R §gd &l Heayul 4Tl UH1 Sl Sl & 1o “Sgl AR &1 Goll oidl o, dal
<qdl (AR @ & HEDIC- I Y AR I Ud- 3 ol 111 TR i G 31 el |71 S o
AR IR H 81 b ol 7151 194 TSl H IS IR I, WA f[dddHe, earHe adt e
TRIYIEl U YHIS QURS! & Yarl O AR Sl ¥ Jaar sl T3 1 9o} e g T ARt
TAIfa & Uy TR FARaR 31 dedt TR, 31 &t AR 3 SHH U AR 3faR dd S{UHT desll ST B
TR SR T Y S @l ufRd B, 7Y Dl YouaRyd IaH & Y UgeH giAT aifet, o €1 uRaR 9@ &
Sffar 21 Rifér T uRaR &t SRS 81 Ud® TR T TR & Y AT A1) S H vaferd
Pdl Bl X B H QHI DI TP G8R P Fgdlvht 91 MfeT| AR B SGR & B SGR &
3id Y I Wed T &1 AU

SubQuestion No : 22
Q.22 3aqr Y@Ied e BT fdaH 9a15T|
Ans X 1 9RI

X 2.crit
X 3.gdd

o 4. Taal

Question ID : 65497828716
Status : Not Answered
Chosen Option : —




Comprehension:

Fafafad e & tedH Ul & Ifad IR aifoe-

U &I # 91 1 I 9gd &1 Heayul 41| U1 el ofidl 8 [ “Jgl IRI &1 Goll gidl &, gl
<qdT Far &R g7 HESICF G 9 ARI &1 Ud- 3 ol T -1 & &Rl a1 el |71 S i
AR IR T 81 Be ol T3 1 1991 TSt H IS IR 1, WA f[ddaHe, TaHe TRl S
TRIYTEl Ud YHIS QURD! & Uarl ¥ AR el ¥ Jaal sl T3 | §0f e o T | TR
Tl & Uy R FRAR IR St T, 3116l $I AR1 A S Y AR SR ddb 31U Heoll STHMAT g |
TR 3R AR Y & &l Ul B, T B Yoaaiyd IaH & U Ugad s difey, ol € URaR gE
Sftar 81 Rifdra T uRaR @ SSR® 81 UdS TR TR B I giFT 91iet | A H vEfed
A DI R B H Gl D TP GUR DT YgaRit &1 1ol | TRI BT SGR o BT ISR 8
3fid Il I Wed T &1 iUl

SubQuestion No : 23

Q.23 Y& g BI T Tnfee | e w9t gfd S

Ans X 1. Tgrf

2. g

X 3.5|H

X 4. rggantt

Question ID : 65497828717
Status : Not Answered
Chosen Option : —

Comprehension:
Faffad T o tgax Ukl & 3fad IR difo-

U ®Id & 91 T R §gd &l Heayul 411 U1 Sl Sl & b “Sgl AR &1 Gl gl &, dal
adT g HRd & AABIEH I Y TR & U 3 8l T[T TR i Grit a1 A 71 ST
I8 R H e gl 31 1941 TSt H IS AHHIGH 1, W [dddHE, edie SRl siife

Tq YIS GURS! & VAR @ AR Saal e st 75 | R e g 1t ARt
T & 9y R FRaR o gadt Tt S & AR1 A S & AR SfaR dd 31U Heoll SR gl
TR R T Y & < ufRd B, 7Y Y YouaRyd IaH & fIY Yo giAT difey, ol € uRaR g@ o
Sfar 31 Riféra T AR @ SSRS 81 UAS TR T TR B G giFT Afet ) SHI H wEferd
A DI R D A Il D TP GUR DI YgdRil &1 dlfel| TRI BT SGR o BT ISR &
i Y I Wed T &1 ATt

SubQuestion No : 24
Q.24 TeaepTel g & 1 @ fRfS 7w di2
Ans AL
X 2. gorig 4t
X 3. fRifgra o4t
X 4. "gaqul ®IF U

Question ID : 65497828718
Status : Not Answered
Chosen Option : —




Comprehension:

Fafafad e & tedH Ul & Ifad IR aifoe-

U &I # 91 1 I 9gd &1 Heayul 41| U1 el ofidl 8 [ “Jgl IRI &1 Goll gidl &, gl
<qdT Far &R g7 HESICF G 9 ARI &1 Ud- 3 ol T -1 & &Rl a1 el |71 S i
AR IR T 81 Be ol T3 1 1991 TSt H IS IR 1, WA f[ddaHe, TaHe TRl S
TRIYTEl Ud YHIS QURD! & Uarl ¥ AR el ¥ Jaal sl T3 | §0f e o T | TR
Tl & Uy R FRAR IR St T, 3116l $I AR1 A S Y AR SR ddb 31U Heoll STHMAT g |
TR 3R AR Y & &l Ul B, T B Yoaaiyd IaH & U Ugad s difey, ol € URaR gE
S 81 Rifga TR URaR @1 SSR® 81 Ud® R H A1 B G giH1 9ifet | 99 H yafed
A DI R B H Gl D TP GUR DT YgaRit &1 1ol | TRI BT SGR o BT ISR 8
3fid Il I Wed T &1 iUl

SubQuestion No : 25
Q.25 e $1 3o e TaE)
Ans X 1. 4G # Rigid & 1
X 2. TR YUl & URd
o 3. T8 T ARmi
X 4. Ggol Ul

Status : Not Answered

[ Question ID : 65497828719

Chosen Option : —
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